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A Study of the Tones in Archaic Chinese
(A Summary)
CHEUNG YAT-SHING

Traditionally there were four tone classes in Ancient Chinese (circa
601 A.D.): (I) the even tone F, (II) the rising tone %, (III) the going
tone B, and (IV) the entering tone /\& Slnce tone class IV—the
entering tone—consists entirely of Word ] eless stops -p, -,
-k, this class was a uallykl _compleme on with one of the
other classes, pri

So far as the tones in Archaic Chinese (circa 1027 B.C.—221 B.C.)
are concerned, there are different opinions among modern scholars. Pro-
fessor Tung T’ung-ho and other scholars think there were three phonemic
tones in Archaic Chinese, tone class III and tone class IV being the same
in contour or register; tone class IV (the entering tone) consisted of words
ending in -p, -t, -k, while the other tone classes consisted of words ending
in -m, -n, -ng, -b, -d, -g or with no consonantal ending at all.

On the contrary, according to Professor Wang Li, Wordsﬂ;{in Archaic
ies: words of tone
‘“blass I and class

were differentiated by vowel length words of class I and class III had long
vowels while words of class II and class IV had short vowels. Words of
the four tone classes in Archaic Chinese were recognized by endings and
vowel length, but not by tones at all.

The present writer has studied the rimes in the Book of Odes (Shih
Ching) and found the following statistical figures:

Rimes in the Book of Odes

Tone class I 2553 times
Tone class 1II 1157 times
Tone class III :
Tone class IV




1. Occ1.1i-rencééj of 2. Total occurrences of The ratio of

different tone classes different tone classes item 1 to

riming with each other concerned item 2
I+11 361 times I+11 3710 times 1:10
I4+III 293 times I4+III 3134 times 1:10
I+1IV 10 times I+1IV 3408 times 1:340
II4-111 166 times II4+-111 1738 times 1:10
II+1v 39 times II+1IV 2012 times 1:51

141V 161 times : es 1:9

The pres has foun Wang Li’s hypothesis is in conflict

ntioned statistics. Words of tone class II and tone class
III had different endings and vowel length: class III words had long vowels
and endings -p, -, -k, while class II words had short vowels and endings
other than -p, -t, -k. The ratio of class II to class III should be lower than
class I: class II, class I: class III or class III: class IV. But, in fact, the
ratio of class II to class III is just about the same or even higher than
class I class II, class I: class III or class III: class IV. On the other
hand, the ratio of class II to class IV (they both had short vowels) should
be just about the same as the ratio of class I to class III (they both had
long vowels). But, in fact, the ratio of class II to class IV.(1: 51) is lower
than class I: class III (1 : 10).

If we adopt Tung’s hypothes y it e statistics much better. Since,
according to Tung, words of class II and class III had same endings, but
had different tones, the ratio of class II to class III should be about the
same as class I: class I, class I: class III or class III: class IV. On the
other hand, since, according to Tung, words of class IT and class IV had
different endings and different tones, the ratio of class II to class IV
should be lower than class I: class II, class I: class III or class II: class III.
In fact, this is just the case.

In conclusion, Tung’s hypothesis fits the data much better, while
Wang’s hypothesis does not fit the above statistics at all.




